Jlorapudgmuueckue BbipaxeHus

Ilyctb a >0, as# 1, £ > 0. Torna
alogaa: — .
BcnoMHUM OCHOBHBIE POPMYJIBI.
log,(zy) = log,z +log,y, ¥y > 0;

loga(%) == logax T loga Yy, y > 0;
log,(z") = blog, z;




Haiiaure sHaueHHe BhIpaskeHHs 6210862,

Pewerue.
6210355 — 6]036 5% . 52 — 95,

Omeem: 25.

Haitume sHauenue BbipaxenHs log, 4,9 + log, 10.
Pewenue.

log; 4,9+ log; 10 = log, (4,9 10) = log; 49 = logy(7?) = 2.
Omsem: 2,



Haiinyute sHaueHHe BblpaXkeHHs1 89823,
Pewenue.

gt = (11" = o = (o) = P = 20
Omsem: 27.

Haiinure nauenne BbIpaxeHHs 10g o5 8.
Pewenue,

log 58 = log1 8 = logy2 23 = iz . 3logy2 = ~15.
4 —

Omsem: -1,5.



Hatinure 3HaueHHe BoipaxkeHus log,q logs 9.

Pewerue.

10g16 10g3 9 10g16 2 10g24 2 — i'log2 2 —_ 111 - 0,25.

Omeem. 0,25.

Hafigure snauenne Beipaxennus log 1 /15.
15 |

Pewenue.
log 1 V15 = logys-1 15%5 = =1 0,5 - log; 15 = —0,5.
15

Omeem: —0,5.



log 5 7
Haﬁm‘lTe 3JHAYeHHue Bblpa}KEHHH <

loggas 7
Pewenue.
10g257 _ 10g257 — 10g257 =1°: l =
loggas 7 logas: 7 X

1
‘2‘ 10g25 7
Omeem: 2.

. Haipire 3Hauenue Buipaxcernst logy; 3 - logg 11,

Pewenue.

1 1
Jog,, 3 logy 11 = 25 _ 108ud _ 1ogy3 1

logug - logn 32 - 210g113 - 5 B

0,0.

Omsem: 0,5.



Haitute sHauenne Boipaxenns 105 - log, v/4.

Pewenue.

Il

105 - log, ¥4 = 105 - log, 4

- 105 % log, 4 = 35.
Omsem: 35.

. Haiinure aHauenue Boipaxerus (log, 32) - (logs 27).
Pewenue.

(log, 32) - (log3 27) = (log, 2°) - (logy 3°) =
(5logy2) - (3logz3) =5-3 = 15.

Omesem: 15.



7log3 18

Ha#gure 3HaueHue BbIpaxKeHH

7logy 2
Pewenue.
7]og3 18
i) — 7log3 18—logz 2 _ '7logs (18:2) . 7logs9 — 72 — 49
3
Omsem: 49.

46. Haiiaute 3Hauenue BoipaxkeHus (1 — logz 15)(1 — log; 15).
Pewenue.
(1—log, 15)(1 —logs 15) = (logz 3 —logs 15)(logs 5 —logs 15) =

- o ) o0 5) = (o5 1) () -

1
= (—log3 5)(—logs 3) = l
O8s

-logs 3 = 1.

Omsem: 1.



48. Hainure 3HaueHHe BbIpaXKeHHs i—%'(-g + logs 0,25.
08

Pewenue.

1%7_4 + log5 O, 25 = 10g54 -+ 10g5 0,25 = 10g5(4 : 0325) =

log, 5
= logs 1 = 0.

Omsem: Q.
49. Haitprre Havere Boipaxetinst log’z 25.

Pewenue.

3 (1 ¢
log’s 25 = (log525)° = (loggas 5)° = (63 210gs5) =
=f=64
Omgem. 64.



